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Please explain how the counters would move if we multiplied the number shown 

above by 10, 100 or 1,000. 

The number shown in the table =  C 

Fill in the missing numbers in the calculations. 

32.5 x                                 = 325 1.245 x   1,000    =  

                             x    100 = 208                              4.2 x                                 = 84 

12.4 x                                 = 2,480 2.764 x   2,000    =  

                             x    20 = 208                               36.2 x                                 = 7,240 


